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QUESTION 1
HOTSPOT

Emma is standing 10 feet away from the base of a tree and tries to measure the angle of elevation to the top. She is
unable to get an accurate measurement, but determines that the angle of elevation is between 55 degrees and 75
degrees.

Decide whether each value given in the table is a reasonable estimate for the tree height. Choose Reasonable or Not
Reasonable for each height.

Hot Area:

Reasonable Not Reasonable
4.2 feet

14.7 feet
24.4 feet
33.9 feet
39.1 feet
58.7 feet

1 o o o o
I o o

Correct Answer:
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Reasonable Not Reasonable
4.2 feet

14.7 feet
24.4 feet
33.9 feet
39.1 feet
58.7 feet

OoOooOooog
OooooOoog

QUESTION 2

Which of these statements is/are true for an exponential function?
a) Its graph increases as it goes to the right.
b) It has a variable in the exponent.

¢ ) Itis the inverse of a logarithmic function.
d ) The base may be negative.

e ) The exponent may be negative.

A.b,c, e

B.b, e

C.a,b

D.a,cd

Correct Answer: A

QUESTION 3
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Referring to the figure shown here, which ofthese statements is not necessarily true if segment BD is the perpendicular bisector of segment R\ where D lies on segment ACy

. £ABC is aright angle
. the equation: €0 = F

- D is the midpoint of segment AC

ooy om o

. £CDB is a right angle

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 4

You are asked to write an argumentative essay in support of paternity leave being extended to new fathers. Which of
these sentences would not be important to include in support of the argument?

A. Granting men paternity leave helps increase mothers\\' incomes as women can re-enter the workforce sooner, giving
both partners an increased sense of self-worth.

B. Studies suggest that fathers who take paternity leave have an increased role in child-care-related tasks, and their
involvement may have lasting impact on their children\\'s performance in school.

C. There is a social stigma associated with men who want to take paternity leave after the birth of a child, and he may
face negative criticism for this decision from friends, coworkers, and even family members

D. A child\\'s brain develops significantly in the weeks and months following birth, and the interactions, relationships,
and experiences babies are exposed to can set the stage for the rest of their lives.

Correct Answer: C

QUESTION 5
HOTSPOT Emily is solving the equation 2(x + 9) = 4(x + 7) + 2. Her steps are shown below. Part A

Click on the first step in which Emily made an error.
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Part B

Click on the solution to Emily\\'s original equation.

Hot Area:

Part A

'Step 1:2x+9)=4(x+ 7) + 2

Step 2: 2x + 18 = 4x + 28 + 2

Step 3: 2x + 18 = 4x + 26

Step 4: -8 = 2x

|
o

Step 5: -4

-105][-6 J[2 ][ 0o ][ 2 ][45

Correct Answer:
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Part A

[Step 1: 2(x + 9) = 4(x + 7) + 2

Step 2: 2x + 18 = 4x + 28 + 2

Step 3: 2x + 18 = 4x + 26 l

Step 4: -8 = 2x

Step 5: -4 = x |

Part B

Eﬂﬂﬁ['qsl 4z|| 0 ” 2 ||45 | 8
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